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o EHETEAERES

TOME AT

HIEAE (X8 C1

HHERl (X8 C2

Ao = B8 B (m) WTETE (2) | FHlFmEIE (n2) X & m3) BT E (m2) | FHEETE (m2) X 1& (m3) i

B1-0. 83 — 0.0 — — 0.0 — —
B1+1. 65 2.48 8.6 4.30 10. 7 0.0 0.00 0.0
B1+2. 15 0.50 8.6 8. 60 4.3 10.5 5.25 2.6
B1+2. 88 0.73 8.6 8. 60 6.3 10.5 10. 50 1.1
B1+3.12 0.24 8.6 8. 60 2.1 0.6 5. 95 1.3
B1+3.12 — 6.0 — — 0.0 0.30 0.0
B1+7.12 4.00 6.0 6. 00 24.0 0.0 0.00 0.0
B1+7. 36 0.24 4.9 5.45 1.3 0.0 0.00 0.0
B1+7. 36 — 8.6 — — 11.3 5. 65 0.0
B1+8.12 0.76 8.6 8. 60 6.5 0.0 5. 65 4.3
B1+11. 90 3.78 0.0 4.30 16.3 0.0 0.00 0.0
X B1A o B4R (HEAD SRR ZEM TS,

= & 12. 73 11.5 15.9
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o EHETEAERES

T EARGES

#RL B3
Ao = B8 B (m) WTETE (2) | FHlFmEIE (n2) X & m3) i

B1-0. 83 — 0.0 — —
B1+1. 65 2.48 0.0 0.00 0.0
B1+2. 15 0.50 9.8 4.90 2.5
B1+2. 88 0.73 9.8 9.80 1.2
B1+3.12 0.24 6.8 8.30 2.0
B1+7.12 4.00 10.6 8.70 34.8
B1+7. 36 0.24 4.9 1.5 1.9
B1+8.12 0.76 0.0 2.45 1.9
B1+11. 90 3.178 0.0 0.00 0.0
X B1Ao B4 (B (SRR ZEM TS,

g\ & 12. 73 50. 3

= & 12. 73 50. 3




T EARGES

& W THEEAERES
#RL B3
bl B8 B (m) ErmEiE n2) | Fermis m2) X & m3) i
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& W THEEEEAES

BRIZEER L viEmER L2
Ao =R B8 B (m) ER m) FigiERK ) E 1R (m2) &R m) FigiE &K ) E & (m2)

B1-0. 83 — 0.0 — —

B1+1. 65 2.48 1.8 0.90 2.2
B1+2. 15 0.50 1.8 1. 80 0.9
B1+2. 88 0.73 1.8 1. 80 1.3
B1+3.12 0.24 1.8 1. 80 0.4
B1+7.12 4.00 2.2 2.00 8.0
B1+7. 36 0.24 2.2 2.20 0.5
B1+8.12 0.76 2.3 2.25 1.7
B1+11. 90 3.178 0.0 1.15 4.3

X B1Ao B4 (B (SRR ZEM TS,

g\ & 12.73 19.3




TN EERT EE

& W THEEEEAES

BRIZEER L PiEmER L2

A =R B8 B (m) =R m) FigiER ) E 1R (m2) &R m) FigiE &K ) E 15 (m2)
A1+0.0 — 0.0 — — 0.0 — —
A1+1. 37 1.37 0.0 0.00 0.0 1.6 0.80 1.
A1+4.13 2.76 0.6 0.30 0.8 1.3 1.45 4.0
A1+5. 00 0.87 0.8 0.70 0.6 1.2 1.25 1.
A1+6. 05 1.05 1.0 0.90 0.9 1.2 1.20 1.3
A1+10. 00 3.95 1.6 1.30 5.1 0.8 1. 00 4.0
A1+10. 72 0.72 1.7 1. 65 1.2 0.0 0.40 0.3
A1+11.73 1. 01 1.7 1.70 1.7 0.0 0.00 0.0
A1+12. 26 0.53 0.0 0.85 0.5 0.0 0.00 0.0
X A SIBICAREG TS,

2\ & 12.26 10. 8 11.8

= & 10. 8 31.
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AT v ABRK L B R
T EI ME RN RS I =Y S B BEATECE | BT BHELE HAGL BREHE (T i
1) =ZBLT B #
i ki SS400 | C-125X65X6 4. 04m X 2443, 91m X 3A+0. 777TmX 44 | 22.918| m 13.4| kg 307.1 kg 322 kg | B ALY
THINL 307.1 ke 1 X 307.1 ke 307 ke
TRR AR A > % JE& &M | HDZT 49L) 1 307.1 ke 1 K 307.1 ke 307| ke
1) =%6L THE
B A 307.1) ke 1K 307.1 ke 307 ke
(2) EMT B
T =257 L —hk | SUS304 | 1524X2060X5 t 4 K 124.48] kg | 497.92 kg 523| kg |m R 5%
T=aFFL—k | SUS304 | 1072X4120X5 t 1 & | 175.12] kg | 175.12 kg 184 kg v AIbHY
HEARE Y b SUS304 | 600X 3300X5 t 2 78.51 kg | 157.02 kg 165 kg 1w AIbE%
K R SUS304 | 600X 1050 X5 t 2 24.98| kg 49.96| kg 52 kg |1 AFEY
. SUS304 | L-50%50X6 1. 15m X 87K+0. 6mX 1074 15.2) m 4.48) ke 68.1 ke 72| ke |m AKBY
THINL 948.12| kg 1 X | 948.12 ke 948 ke
(2) EMT T2
BRI 948.12| kg 1] X 948.12) ke 948 kg
(3) MIRR T G
LB HAf /S v SUS444 | 1000X1000X 2. 5t 12 #& 1] m 12 o 120 ¥
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AT v b ABIE K L &

Al

+

=N

=
T EI ME RN RS I =Y S BOL| BEATECE | BT BHELE HAGL BREHE BT i
LB BAf /S 1 v SUS444 | 1000 1000RX 2. 5t 'S 1.57 nf 6.28 nf 'S
28 A SRV SUS444 | 1000 1000X 2. 0t 12| # 1 nof 12| nf 12| #
2B BRI S v SUS444 | 1000 1000R X 2. 0t 4 1.57 nf 6.28 nf S
3BEE M L SUS329 | 10001000 X 1. 5t 12| # 1 nof 12| nf 12| #
3B RM SRV SUS329 | 1000X 1000RX 1. 5t 4 1.57 nf 6.28 nf S
(3) AT LHE
Bl AT 54.84| nf 1] K 54.84| nf 54.8 nf
(4) RIFWT | BME
KR SUS329 | 1000 1000X 1. 5t 12| # 1 of 12| of 12| #
KoL SUS329 | 1000 1000RX 1. 5t 8 0.39 nf 3.12 nof 8
(4) RIFWT | THE
BN 15.12 nf 1K 15.12 nf 15.1 nf
(5) PNEBASR T B E
2| SUS329 | L-40X40X3 KIFATRAT—$#40. 525m X 304 15.75| m 1.87 kg 29.45 kg 31 kg |1 AZ5%
A i) SUS329 | L-40X40X3 S| 3EA13. 86mX 24+1. 86m X 3A+], 88m X 3A 18.94) m 1.87| kg 35.42 kg 37| ke 1 ALY
4 i) SUS304 | L-40X40X4 KRS, 86m> 251 86mX 2+ 1. 88m X 2440, 85mX 24 16.9 m 2.41| ke 40.73 | ke 43 ke T ALY
2| SUS329 | L-50X50X3 £LHF1. 15mX 104 1.5 m 2.34 ke 26.91 ke 28| kg | AZBY
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AT b AREK S

Al

+

=N

=
EI ME RN RS i & K S BOL| BEATECE | BT BHELE HAGL BREHE BT i
iz ] SUS304 | L-50X50X6 BlOA 1. 15m X 104 1.5 m 4.48| ke 51.52| kg 54| kg |1 AF5%
72 SUS304 | L-65X65X6 FHOR1. 2m X 104 12 m 5.97| ke 71.64 ke 75 ke | AIBY
2 SUS329 | L-40X40X4 A0, 9Tm X 64% 5.82 m 2.49| ke 14.49 ke 15 ke | @ ZE5%
72 SUS304 | L-40X40X4 5ERF1. 175m X 64 7.05 m 2.41| ke 16.99 ke 18 kg |m AFRE%
2| SUS329 | L-130X 30X 3 FERTRAL0. 925mX 134 12.025 m 3.74 ke 44.97 ke 47 ke |1 REB%
2. SUS304 | L-150X 60X 4 FEMITRAL 1. 95m X 1248 23.4| m 6.66 kg 155. 84| kg 164 ke v AZEY
L SUS304 | L-180%X 60X 6 FEMTRAT 1. 95m X 1A 1.95| m 11.41 ke 22.25 ke 23 ke |1 RB%
hia kil SUS329 | FB-30%2 A7-$40. 525m X 284K 14.7 m 0.46| kg 6.76] ke 7.1 ke |v 2FB%
D il SUS304 | FB-25X%3 AF-HF0. 525m X 204 10.5| m 0.595 ke 6.25 ke 6.6 ke | RER5%
I SUS329 | L-30%30X3 A7—40. 928m X 44 3.712| m 1.4 kg 5.2 ke 5.5 ke |m ZH5%
& SUS304 | L-30X30X3 AF-HF0. 928m X 44 3.712 m 1.37 ke 5.09 ke 5.3 ke |m RER5%
Aty hFL—1F | SUS329 | 150X 140X4 t 10 & 0.66 kg 6.6 kg 6.9 kg A%
¥y b FL—k | SUS329 | 400X 140X4 t 10 1.75] kg 17.5 kg 18 kg | = RE5%
Aty hFL—1F | SUS304 | 350X 135X6t 10 2.25 kg 22.5| kg 24 kg |7 AFEHY
Hty hFL— | SUS329 | 160X 160X4 t 6| & 0.8] kg 4.8 kg 5| kg & RZE5Y
Aty hFL—1F | SUS304 | 160X 160X4 t 2| & 0.81 kg 1.62] kg 1.7 kg |© A5y
N—2FL— b SUS304 | 160X60X6 t 13 & 0.46 kg 5.98 kg 6.3 kg |7 RH5%
i, SUS304 | L-150X 60X 4 FRAFBRAL0. 85m X 44 3.4 m 6.66 kg 22.64 ke 24 kg v AIBY
¥y b FL—k | SUS304 | 130X 100X6 t 8| & 0.62 kg 4.96 kg 5.2| kg |m RH5%
L, SUS304 | L-155X 60X 6 ImHAEAR SRAHRAS 0. 2m X 1A 0.2 m 10.22| kg 2.04 kg 2.1 ke |© AIREY
R i SUS304 | FB-30X3 KA H M 4. OmX 67K 24 m 0.715| ke 17.16 ke 18 ke |© AE%
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AT v ABRK L B R
T EI ME RN RS I =Y S BOL| BEATECE | BT BHELE HAGL BREHE BT i
THIL 639.31| kg 1 X | 639.31 ke 639 ke
(5) PNEBAfsR T TH#
BN 639.31| kg 1] X | 639.31 ke 639 kg
(6) L G
< R—LE SUS329 | ¢ 600 2 K 4.5 ke 9 ke 2
I35 A VPW | 100A 5 m IIEE:N 5 m 5/ m
it =5 FH 8 5 SUS329 | 100AX 750L 2 {# 12| kg 24 ke 2 A
T SUS304 | W450<P300 30000 1 K 26 kg 26 kg 1 K
NET o7 SUS329 | W370XP300 3000HH 2 A& 9 ke 18 ke 2| K
BARELR S SUS304 | 940X 250 X 200H 1 # 15 ke 15 ke 1 #
KALEAZRE SUS329/304| 930X 480 X 200H 1 # 23| ke 23| ke 1 2
R A — SUS304 | 1200 X 620X 1100H 1 # 147 ke 147 ke 1 #
FAE P AR— T SUS329 | 980L 50A 2 # 1.6 ke 3.2 ke 2|
U A — b SUS329 | 1020L 80A 2 A 1.76 kg 3.52 ke 2 M
B3 15 4 AR — b SUS329 | 980L 100A 2 # .77 ke 3.54 ke 2 #
@A I SCRFA H. | SUS304 | W250 X 2600 80A 2 A 2.32| ke 4.64 kg 2 M
(6) L THE
< RV 2 & 4.5 ke 9| ke 9| ke
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AT b ABIEOK B E A

T EI ME RN RS I =Y S BOL| BEATECE | BT BHELE HAGL BREHE BT i
(D&% m INE=N 5 m 5 m
[DEEEi e 1 12| ke 24 ke 24 ke
S 4Ty EN 26 ke 26| ke 26| ke
NET T N 9 ke 18 ke 18 ke
BRI S HH 15 ke 15 ke 15 ke
AKALE O 2R A fii! 23 ke 23 ke 23 ke
HLEE ) N— il 147 ke 147 ke 147 ke
MANE AR — bk fii! 1.6 kg 3.2 ke 3.2 ke
HRE YA — |k il 1.76 ke 3.52 ke 3.5 ke
538 1 3 AR — b il .77 ke 3.54 kg 3.5 ke
HEE SR R il 2.32 ke 4.64 ke 4.6| ke

() fHlE L) B
TN
RPEE SUS  |50A X 2550L ES I 2| K 2| K
W i SUS  |50AX 1031L X 1800L EN 1 =X 2| A 2| A
7T v UHRTFR 50A i I 2| 2|
it HH A
ke SUS  |100A X 853L X 1300L EN I 2| K 2| K
RPEE SUS  |80A X 2550L EN I 2| K 2| K
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AT b ABIEOK B E A

IEI
T & &4 ME Okt ik G Mo HLAL HLAZHcR: | BT SR BT RRE MR | BT 1t
F il SUS  |80AX 1045L X 1850L 2| K 1 K 2| K 2 K
A% =) 80A 2| A 1 K 2| M 2| M
PR
bamaliike SUS  |80A X 240L X 1200L 2 K 1 K 2] K 2 K
L
RFEE SUS  |80A X 150L 2 K 1 K 2] K 2 K
F il SUS  |80AX 200L X 2301 2| K 1 K 2| K 2 K
A% =) 80A 4 1 K 4 4
o5 FCD  80A 1 1 K 1A 1k
J Sk SUS  |50AX230L IS I 1A 1 &
AKNLE A
JFRAE SUS 1004 X 300L IS I 1A 1 &
() fIHHRET THE
P MIARAT T 50A 11 m 1 K 11 m 11 m
HHE AR LT 80A 14.9 m 1 K 14.9 m 14.9] m
P MIARAT T 100A 4.6/ m 1 K 4.6/ m 4.6 m
7o UVHMEL 50A 2 M 1 K 2 M 2 M
75 U UMKET 80A 6| Al 1 X 6| Al 6| Al
R T 80A 1 & 1 K 1k 1k
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£ B A A &=

Za PR IR /NI B At A 2V BAL| % &

2—2, BKMERT

(Bd 7Kt J5 T )

g =2 > 7 U — |8 24-8-25BB W/C55%LL T 13. 765 A7 L AR ER TR Ry 13,765 14
ay) )=k 7" T E% T 10m3 LA F100m3 A i m3
B i = > 7 U — F|#f5 18-8-40BB W/C55%LL F 5. 850 AT L A BE K IS TR & Y 5. 850 6
ay) )=k 7" T ER T 10m3 LA F100m3 A i m3
W= 7 U — NEHEED 15. 630 2T L ARE KSR THEHEEL 15,630 16
bl P T m2
B i# = > 7 U — bEGESEY 13. 168 2T L AREOK IS TR L 13, 168 13
i e - mZ
s = 7 U — 1|[SD345 D16 1321. 800 AT L ABUE KL TR L 1.32 1.32
gk il T t
s =~ 7 U — b|SD345 D13 25. 800 27 L AWE KSR TR R L 0. 0258 0.03
gk il T t

BRI EAs13 14. 028 A7 L AMEOhER TSR EELY 14, 028 14
BRIFE T A7 7 L b T|t=50mm () m2

(SeffEay ) ) - RS ER5Y)

2 v 27 U —  DI|#A5 18-8-40BB W/C55%LA F >= 8. 24 8
ay))=bE" 7" BT ER T 10m3LL - 100m3 R m3
0. 450X 0. 630X 1. 850 X 2= 1.05
@)
0. 550X 0. 630X 2. 750 X 2= 1.91
@
0. 600X 0. 630X 0. 950 X 2= 0.72
®
2.300X0. 630X 2. 800= 4. 06
@
3. 500X 0. 080X 1. 800= 0. 50
®
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4 Zin I NI 7 B 2V AL B &
=N Uy — A S 8.79
i e mZ
(0. 450+1. 850) X 0. 630 X 2= 2.90
)
(0. 550+2. 750) X 0. 630 X 2= 4.16
©)
2. 300X 0. 630= 1.45
@
3. 500 X 0. 080= 0.28
®
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AT b AR K R T A R E

VAR =TEX g HAT
Hpk= o 7 ) — kK
24-8-25 TR 4. 600X 4. 600X 0. 500 = 10. 580
B4R By b 3.500X 1. 800X 0. 550 = 3. 465
GIRGiEEs 1. 500X 0. 450 X 0. 500 = 0. 338
sNxZ 7 1. 000X 0. 150 X 0. 500 = 0.075
By b kR -1. 050 X 0. 600X 0. 550 X 2 = -0. 693
H 13. 765 13.8 n’
itz 7 ) — |k
18-8-40 Bl th#E=a L 7 ) — R 0. 700X 1. 950X 0. 630X 2 = 1. 720
Bl 7 ) — b2 3. 500X 2. 000X 0. 590 = 4,130
i 5. 850 5.85 m’
a7 ) — R
HHEIR (4. 600+4. 600) X 0. 500 X 2 = 9. 200
vy bER (3. 500+1. 800) X 0. 550X 2 = 5. 830
HE s 0. 450X 0. 500 X 2 = 0. 450
NE T T 0. 150X 0. 500 X 2 = 0. 150
& 15. 630 16
[z 7 ) — KR
fidE Lo 7 U— b1 (0. 700+1. 950) X 0. 630X 2X2 = 6.678
Bl 7 ) — b2 (3. 500+2. 000) X 0.590X 2 = 6. 490
i 13. 168 13 m®
E78i1]
SD345 D16 1321. 8kg = 1.32 1.3 't
SD345 D13 25. 8kg = 0. 0258 0.026 't




AT b AR K i B T G A E
EA RN % BN
TAZy7)haryrz7J—k
BRI L3 TAZyFbharzY—hk 3.910x3.910 = 15. 288
~1. 050X 0. 600 X 2 = ~1. 260
& 14. 028 14

t=50

By ERR




% & at B =+
4 PR ¥ ok ~F ik At H 2V HAL| & &=
v M 3, BHNEETL
3-1, A% HPPE 650 L= 21.4m

[EX:§ 4 6. 700+11. 457=18. 157 4. 00 4

AGE LK R VxF L8| ¢ 50 X 5. Om (W) H) K
I 6 0. 220X 6=1. 320 6. 00 6

E F [ 5% X ¥ FK|¢5b0x45° 1
Wz 1 0. 180X 1=0. 180 1. 00 1

E F i =% ~X  F|¢50X11 1/4° "
b 2 0. 270 X 2=0. 540 2.00 2

E F i 5% X ¥ F|¢5b0x45° 1
2 (0. 070+0. 180) X 2=0. 500 2.00 2

E F F — X|¢50X¢50 1
2 2.00 2

E F Y 7 v Bé¢50 &
$:8k77/Y° 10kF GF 2 0. 190 X 2=0. 380 2.00 2

5 5 L v s fes [
1 0. 070X 1=0. 070 1. 00 1

¥ Y > 7| ¢ 50 &
WA Ry (A B 2 1 1. 00 1

PP Y g A4 v Féb50 1
10kF 2 0. 180X 2=0. 360 2.00 2

v 7 k¥ — A8 F| 650 I
10kF SUS B,N P#t GF15 2 2. 00 2

7 7 v TV ¥ A M50 4
10kF SUS B,N P4t RF 2 2.00 2

7 7 v TV ¥ A M50 4

6. 700+11. 457+1. 320+0. 180+0. 540+0. 500+0. 380+0. 070+0. 360= 21.510
WMANE it m
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4 78 I NI i A 2V B B &=
i Bl

JDV2SD-52HK 2 2. 00 2

8 g F K #E 2 |H=230 &
H 8 Fp O K|FVI-AC2(200) 2 2. 00 2

LY a v AR v 7 AH=200 e
THP1 2 2. 00 2

8] 5p & W H[H=40 &
1 7=7-% 21.510-0. 360= (aneIbheed’S 21. 150 21.2

Wk E i v — K~W=150mm m
& 50mmph 45 21.510-0. 360+ (21. 510-0. 360) X 1/2.0X0. 063X = X1.5=  fEG1Fp#ERR  24. 290 24.3

B O R T — 650 m
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4 78 I NI 7 B 2V B B &=
% %

21.510-0. 360= (aneIbnesd’S 21. 150 21.2

RY = F L U EHRA T 650 m
11 3-1, &AL Y 11. 00 11

R F L w650 5
EFfikF 242 X 6+2+2= 18. 00 18

AR = F L EHETF T 650 5
EFfEF QCOMEF) 2+2= 4. 00 4

RY) = F L EETF T 650 % P
A=hw 1 1. 00 1

R o F L EHET] 650 5
el 1 1. 00 1

A = J1 )V ik P T[¢50 5
10KF 4 4. 00 4

7 7 v ¥V T T|é50 M
NS 2 2. 00 2

8 9 @& B T ¢50 5
R UERAFERE L 2 2. 00 2

HE) Ry 7 A% ETL|ICELE &
22 VS 4 2 2. 00 2

LR AR y 7 ZAFE TIMF1E  EEEE(150) ]
22 VS 4 2 2. 00 2

Ol A v 7 ARE TIAELS KR &
21. 150 21.15 21.2

g or vy — F L m
24. 290 24. 29 24.3

W W orR 7 — 7 T|¢50 m
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1 EYRFMRAE HPPE ¢50 2 TYRFRAE HPPE ¢50

L40
0 & B RES BE UMW By & zZ U B 0 & B RBES BR=E | UIeg B4 € &
m 4.852
®»50mm | 5.0 1 0.148 1
1.848 2.930
2 | 0222 2
3.355 1.201 0.381
3 | 0.063 3
1.100 0.992 0.636 0.481
0.381
4 | 1.791 5
X m ] BYE m ZYE m X m m] BYE m ZUE m
g 4 | 2224 11 6.700 11.457 g 0 | 0.000 0 0.000 0.000




# = 7 " E
4 R i NI B #t B 7\ =<K{va
w M 3, BNEET
3-2, Jiti% HPPE ¢ 100 L= 16.6m

[N 3 11. 405 . 00

AGE B K E ) xF Vv | ¢ 100X 5. 0m (B ) N
5z 2 0. 500 X 2=1. 000 .00

E F W &% X > F[¢100X90° 18
5z 2 0. 280 X 2=0. 560 .00

E F W &% X v F|$100xX22 1/2° .
5z 1 0. 280 X 1=0. 280 .00

EF i &% X v F[¢100X11 1/4° &
Frsz 2 0. 490 X 2=0. 980 .00

E F ik &% X » F|¢100x45° 1
2 (0. 140+0. 310) X 2=0. 900 .00

E F F — X|$100X ¢ 100 1A
2 . 00

E F Y /7 v K|¢100 ]
1 0.120x1=0. 120 .00

X ¥ > 7| ¢ 100 1
8585777 7.5kF GF 2 0. 250 X 2=0. 500 .00

7 T v Y 100 1
b i (A s 2 1 . 00

PP Y a A v ke¢loo &
7. 5kF 2 0. 250 X 2=0. 500 .00

Y 7 b — AR fp 6 100 i
7.5kF SUS B,N P#t GF1%= 2 .00

7 7 v T ¥ A M[¢100 i
7.5kF SUS B,N P4t RF| 2 . 00

7 7 v T ¥ A M¢100 i

(A /K it & &t B &)
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% & B "
4 R i NI B #t B 7\ =<K{va =
(A E ) HPPEM 1 1. 00 1
R v A K R 9 100X ¢ 30 1A
ZNe HEE T HICH B
i A R g i & Ft| ¢ 100
(R WA K HE 3R &)
PP (k-1) 0.2 0. 20 0.2
AEHARY =F L | ¢ 20 m
HPPEH] 58k 1 1.00 1
K v A G K R8¢ 100X ¢ 20 1A
P E & & M F 1 1. 00 1
gy Ik k- k& 620 1
P E & & M F 1 1. 00 1
Y L Y vy BFe20 1
D-PR H2.1m 1 1.00 1
AWk K K| 620X ¢ 13 1A
KTL-10 1 1.00 1
m % H b 7 “|¢l13 1
11. 405+1. 000+0. 560+0. 280+0. 980+0. 390+0. 900+0. 120+0. 500+0. 500= 16. 640
P E AL R m
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u} =
4 R i NI B #t B 7\ =<K{va =
Moo B

JDV2SD-52HK 2 2.00 2
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